5.6

Practice - Multiply Special Products

Find each product.

1) (x+8)(z—38) 2) (a—4)(a+4)
3) (1+3p)(1—3p) 4) (z—3)(z+3)
5) (1—7n)(1+7n) 6) (8m+5)(8m —5)
7) (5n —8)(5n +8) 8) (2r+3)(2r—3)
9) (4z + 8)(4z —8) 10) (b—=7)(b+7)
11) (4y — z)(dy + ) 12) (7Ta+7b)(7a — 7b)
13) (4m — 8n)(4m + 8n) 14) (3y — 32)(3y + 3z)
15) (6x — 2y)(6x + 2y) 16) (1+5n)°
17) (a+5)? 18) (v+4)
19) (o 87 20) (1—6n)

22) (7k —7)?
21) (p+7)°

24) (4x —5)?
23) (7 —5n)>

26) (3a+3b)?
25) (5m — 8)?

28) (4m —n)?
27) (5 + Ty)? 30) (8 4+ 51)?
29) (2z 4 2y)? 32) (m — 7’
31) (5+2r)° 34) (8n+7)(8n —T)
33) (2+5z2)° 36) (b+4)(b—4)
35) (40 —17) (40 +7) 38) (T +7)>
37) (n—5)(n+5) 40) (3a — 8)(3a+8)
39) (4k +2)2
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5.6

Answers to Multiply Special Products

1) 2% —64 15) 3622 — 4y 29) 422+ 8xy + 4y?
2) a?—16 16) 1+10n+ 25n2 30) 6dx2 4+ 80z y + 25y2
a2

3)1-9p 17) a®*+ 10a + 25 31) 25+ 201 + 472
4) 22-9 18) v2+8v+16

32) m2 — 14m + 49
5) 1 —49n? 19) 22 — 16z + 64
6) 64m2 — 25 20) 1 — 121 + 3612 33) 4+ 20z + 2507
7) 25n% — 64 21) p? + 1dp+ 49 34) 64n* — 49
8) 4r2—9 22) 49k2 — 98k + 49 35) 1602 — 49
10) %> —49 24) 1622 — 40z + 25

37) n% — 25
11) 16y* — 22 25) 25m? — 80m + 64

38) 4922+ 98z + 49
12) 4942 — 492 26) 9a2 + 18ab+ 9b° ) 4927+ 98z +
13) 16m? — 64n? 27 252 4 T0zy + 4912 39) 16k* + 16k + 4
14) 9y* — 922 28) 16m? — 8mn +n? 40) 9a* — 64
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